AN sttERSH
M shE Mo 25 - 0DIE 2sH (s - SE)

(s B [ P ge DA Rl v~ EER=E)
SA - ZE - BR(3) - HRA - B of v e HIDE2
GtERsSH 54,857,533 55,289,303 A431,770

= 6,261,874
Jl 3,488,685
= 45,106,974
sttE M4 25 - 0PI e (s - SE) 54,223,122 55,257,800 ~1,034,678
= 6,261,874
7l 3,488,685
= 44,472,563
A BES 16,955,028 22,493,489 6,538,461
= 3,282,664
Il 1,722,585
= 10,949,779
AL BHHMD 1,547,138 377,760 1,169,378
202 04| 2,500 2,760 A260
01 =LHO LI 2,500 2,760 A260
OAESN % W=7 HRFA 2,500
308 XXM SOIH 232,800 232,800
01 XN BELES 232,800 232,800
Odlsat=s ryda & oldct &5 232,800
403 MR HHMSAHE01H 1,311,838 375,000 936,838
01 MHXIHHA 222 1,311,838 375,000 936,838
OBldaotRA st 300,000
OdMsatE rFa & olaet & 1,011,838
HAF =M 1,002,500 1,002,760 A260
202 04l 2,500 2,760 A260
01 SLHoIH 2,500 2,760 A260
OM4 HHMA HRRX 2,500
307 el2to| & 1,000,000 1,000,000
02 2B YAIHE & 1,000,000 1,000,000
oMaF =38 s 24N 1,000,000
DX A HH A 417,000 423,000 26,000
308 AtAIEMSOIE 384,000 384,000 0
01 HAHHBSExRS 384,000 384,000 0
ODHRIMA HHMA X 384,000
403 TR M SAH=01H 33,000 39,000 26,000
01 AXISHHA=2 2L 33,000 39,000 26,000
ODHINA &K RSO A= 33,000
st 7S 351,500 373,503 22,003
202 04l 2,000 2,760 AT60
01 =LHAHI 2,000 2,760 AT60
O35 g 2,000
403 AXIEHMSAH=Z01d 349,500 370,743 N21,243
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sttE=SH
sttE dah, /S - 0BIE - SE)
relb:| g =l e EER=E)
SA - B - SRI(BH) - MRAR - B A HIDEZ
01 AR A= 2 & 349,500 370,743 N21,243
Ot 2HH ML 112,500
O3 datzs Xd 90,000
OEZUA Jlgrxd 147,000
elallgtxy 106,000 122,400 16,400
202 04| 1,000 2,400 1,400
01 SLHo4H 1,000 2,400 A1,400
oclalgtrd gRFd 1,000
308 AXIMSOIA 20,000 15,000 5,000
01 XN B2 LS 20,000 15,000 5,000
Oely letB oK 20,000
403 MR HHSAHE01H 85,000 105,000 /20,000
01 MHXIHHA 22 85,000 105,000 /20,000
OLNZFE 24 HaAld X 85,000
SNZHEHNL 24,600 16,000 8,600
201 fer=3| 3,000 2,000 1,000
01 At22tel] 3,000 2,000 1,000
o2& HEEX = 3,000
403 XM SAH=01H 21,600 14,000 7,600
01 AXISHHA =2 £ 21,600 14,000 7,600
oz2s ANEY 4 21,600
NS0 SUs X (AL 927,420 422,798 504,622
) 747,919
S 179,501
403 AXIEHMSA=01d 927,420 422,798 504,622
Jl 747,919
= 179,501
01 AR A= 2 £ 927,420 422,798 504,622
OAIZ20 STH3t 927,420
J 747,919
= 179,501
AE20 SUist X (D= HIoHE THEHHAIE) (2D) 208,000 230,100 A22,100
Jl 160,000
& 48,000
403 MR HHMSAHE01H 208,000 230,100 A22,100
) 160,000
= 48,000
01 AXISHA=2 22X 208,000 230,100 A22,100
O©L=F HBIDHE THHHAIZ 208,000
Jl 160,000
= 48,000
20=Z0F ICTESE NJA(A0EE 21,242 105,700 A\84,458
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AN sttERSH
B =A2 M4 S5 - 0B SSH(STHLSN/5Y - 5E5)
(s B [ P ge DA Rl v~ EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 17,131
=S 4,111
403 X SHHMSAH=01H 21,242 105,700 N\84,458
Jl 17,131
== 4,111
01 A= 2L 21,242 105,700 A\84,458
OANIEE ANEEs 21,242
) 17,131
& 4,111
SYE0F dUXoI2ESsHURNZZAIEXRE)(=12) 376,383 528,498 A152,115
Jl 303,535
= 72,848
403 TR SHMSAH=01H 376,383 528,498 A152,115
Jl 303,535
=S 72,848
01 AXISHHA=2 2L 376,383 528,498 A152,115
OUUHXNEZANEXHA 376,383
Jl 303,535
< 72,848
HAZ SO MA(H AR ) (2OHRE XIR) 6,562,000 6,562,000 0
307 @120l & 6,562,000 6,562,000
02 QB AANEE R 6,562,000 6,562,000
(O En) SERUPSP] 6,562,000
FIAAE & =8 & 22lH] X (=1) 11,000 11,000 0
Jl 11,000
202 048l 4,000 4,000 0
Il 4,000
04 =NI3t01H] 4,000 4,000 0
OFTAAIE A= =8 & 22ldl XI& 4,000
Jl 4,000
307 glztol & 7,000 7,000 0
Jl 7,000
02 QB HANEEX 7,000 7,000 0
OFTAAIE HI & =& & 2teldl X1 7,000
Il 7,000
SEAS(HA, AE) HMALSUE XJ(=12) 175,500 213,200 A37,700
) 135,000
= 40,500
403 AXIEHMSAH=201H 175,500 213,200 A37,700
Il 135,000
= 40,500
01 AXISHHA2EE 175,500 213,200 A37,700
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AN sttERSH
M ShE M4 25 - 0DIE 28Hs - SE)
(s B [ P ge DA Rl v~ EER=E)
SA - ZE - BR(3) - HRA - B of v e HIDE2
OHA, 2E THHHAIZ S TS X1~ 175,500
Jl 135,000
== 40,500
SEXNS(QUH)MAAILSUSE X 452,400 425,100 27,300
Il 348,000
= 104,400
403 AXIEHMSAH=201H 452,400 425,100 27,300
7l 348,000
= 104,400
01 AXISHHA2EE 452,400 425,100 27,300
Ools MHHHAIZSTHSE XI2 452,400
7 348,000
=S 104,400
SHZ0F OILXIOIESE3H A THA 2,107,345 3,461,868 N 1,354,523
= 1,932,664
& 174,681
403 AXIEHMSA=Z01d 2,107,345 3,461,868 1,354,523
= 1,932,664
= 174,681
01 XM =2 E 2,107,345 3,461,868 N1,354,523
OAITHANHXI(OHEAIE) 314,830
= 281,664
= 33,166
OATHHEMUX(BSAIE) 1,792,515
= 1,651,000
< 141,515
A& TolXI EL0IMENN S X3 (E DA 1,665,000 1,665,000 0
S X&) (=1)
= 1,350,000
= 315,000
308 AFXIEHMSOIE 1,665,000 1,665,000 0
= 1,350,000
=S 315,000
01 XN B2 LS 1,665,000 1,665,000 0
OELIIL=HA S N&A 1,665,000
= 1,350,000
< 315,000
SHERSEES & stt=E RSN 6,324,555 4,199,940 2,124,615
= 1,463,000
Jl 1,556,100
== 3,305,455
FHEEE =4 30,500 131,590 A101,090
202 04l 3,500 4,590 21,090
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AN sttERSH
M shE M 25 - 0DIE 28 (=Y t/sg - s&)
o9l SARSEHME U SN2 RETZ (crol: M=)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOIA 50,000 50,000
01 XN BELES 50,000 50,000
OttlRs =7 =223 A& 50,000
403 MR HHMSAHE01H 681,241 385,750 295,491
01 MXIHH A 222 681,241 385,750 295,491
(OFNINPSE=INF=RPNE=| 281,250
OAPC A2t 89,691
OMNRE =% a3 A2 310,300
SRS gdat 105,000 105,000 0
308 XXM SOIA 105,000 105,000
01 XN BELS 105,000 105,000
OsSEEdE ZZM XN& 105,000
sSttE =Y 243 7,000 162,460 155,460
201 Zet=3hl 1,000 580 420
01 AtR2t2|HI 1,000 580 420
oz &8st R 1,000
308 AFAIEHMSOIH 6,000 9,000 A3,000
01 RSN B EES 6,000 9,000 A3,000
oxzd stz dis2 243t 6,000
SSEEHIXE(22) 598,000 598,000 0
= 460,000
< 138,000
308 AIXIHHSOIA 598,000 598,000 0
= 460,000
& 138,000
01 HASHHBSEEXS 598,000 598,000 0
o5&l 598,000
= 460,000
= 138,000
EJJ1D B30I X (21) 924,800 0 924,800
= 578,000
s 346,800
308 AXIHHS0IA 924,800 0 924,800
= 578,000
< 346,800
01 XN B2 LS 924,800 0 924,800
o=8IJ| 55018 XN& 924,800
= 578,000
= 346,800
sHMESMISSHH (APC) KR (=1) 2,334,150 1,584,000 750,150
Jl 1,556,100
= 778,050

- 604 -




od
i’
oF
uJ

B 2 g g g 8 2188 S|Ele |88 2818 |8
- Al | AN — | |™
T 8 8 g g g 8 8|88 & 8|S SRR
ke =
E=)

(ol ol Neo) [ Nl

8 g g g g 8 eI g g|8 3|88 |8
_._._mﬁw, W & & 5 m —l=l= % %% 32| @ N~
| o
KIS

xn O (a2}

SEE22EE888|888 888883 E5|8|I8I888 E|E|EIE 8|88 8 8 E|K|EIE 8|8

R R EEE R R R N SR EEEIEE EEL R
o |- |d S § o=
<
S

~ W = W W W o s
gm =
M_ ® K
: <=
3D o 3
< o = w i "
s = m = Mo S K0 40 .
= m mr w o m E o q W OF
=~ = o o r G el R 3 =
= |X 3 = Rl = = m X N (Rl w5 o
5 |° K| X 0 S Km0 - KIS i %o ol Kl g 8 n0
= | Ii W0 or W I wo N B = L <SIWIH gy < g 0
F | W % = i W DR w |1 o G < 7)
o) |uo B uio Ao L A TR = T L i ) E=l =T
R = =z < 80 = = K | R | = < B |z T ooE|lE < o Klglao|s
= | o Qm o o ) w_ oo K ur o [N = MDD ™ sElnls w
m K R g B R K O g b o |ns|5 ¥xlzg <@ 3|zt J|5
K = = 7 = 7l 30 VIl IR B ||| 0|k 0O R0 R gfon|=z H|=
° s} — O ol o) — © % m=_81©@@ n_.:21@31@@@m_._=11©2
X |9 0 BT = e Ho o |8 ° TN S 2|82 S
I+ 3l _mw B Ho Ho

- 605 -



AN sttERSH
¥ siE 44, {8 - 0DIE e (sHlLsd/sE - 5&)
ol SASUESEY (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 2LHoIH 7,000 7,800 2800
OsASZEUS R 7,000
308 AXIHSOIA 36,250 33,750 2,500
01 HRHHBAEES 36,250 33,750 2,500
Ostt= g HAL 10,000
OZXIAt SEUSHIXIE 26,250
GP OtE Y 24 X (21) 112,073 97,565 14,508
= 86,210
=S 25,863
308 XXM SOIA 112,073 97,565 14,508
= 86,210
= 25,863
01 XN B2 LS 112,073 97,565 14,508
OGP ot 24 AE 112,073
= 86,210
& 25,863
GAP PIMAIE 22H(=210) 111,000 96,000 15,000
= 111,000
403 MR HHMSAH=0lH 111,000 96,000 15,000
= 111,000
01 AXISHHA=2EE 111,000 96,000 15,000
OGAP ?IUAIE 2=t 111,000
= 111,000
sSAZHIRHM XZAE(=21) 1,456,800 0 1,456,800
= 1,214,000
S 242,800
308 XXM SOIA 1,456,800 0 1,456,800
= 1,214,000
== 242,800
01 XN B2 LS 1,456,800 0 1,456,800
OsASHIRA X2 A 1,456,800
= 1,214,000
< 242,800
ASAN ¥ BB *4(=1) 315,000 195,000 120,000
Il 210,000
= 105,000
403 MXIEHHS =201 315,000 195,000 120,000
7l 210,000
= 105,000
01 AR A =2 £ 315,000 195,000 120,000
OAEAM € Etsdd |4 X3 315,000
Jl 210,000
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